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Homework Discussion



Exponenual & Logarithmic Series



QUESTION [JEE Mains 2023 (1Feb)] )
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Logarithm Series
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QUESTION [JEE Mains 2021 (Aug)] )
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Some More Problem Practice
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QUESTION [JEE Advanced 2016 (Paper 2)] ) L3 b -
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QUESTION [1IT-JEE 2007] )

Let A, G;, H; denote the arithmetic, geometritarmd Tarmonic means, respectively, of two
distinct positive numbers. For n > 2. LetA,_; and H,,_; have arithmetic, geometric and
harmonic means as A,,, G,,, H,, respectively.

Which one of the following statements is correct?
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QUESTION [1IT-JEE 2007] ) @

NS

Let A, G;, H; denote the arithmetic, geometric and harmonic means, respectively, of two
distinct positive numbers. For n > 2. LetA,_; and H,,_; have arithmetic, geometric and
harmonic means as A,,, G,,, H,, respectively.

Which one of the following statements is correct?
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QUESTION [1IT-JEE 2007] ) @

Let A,, G;, H; denote the arithmetic, geometric and harmonic means, respectively, of two
distinct positive numbers. For n > 2. LetA,_; and H,,_; have arithmetic, geometric and
harmonic means as A, G,,, H,, respectively.

Which one of the following statements is correct?
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Trigonometry)
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Tri Gonos Metron
(Three) (Sides) (Measure)
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Trigonometry is the branch of mathematics in which we study about triangle.
Basically these are six parameters in a triangle (three sides & angles)
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QUESTION )
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Revision Practice Problems (RPP)









Solution to Previous TAH
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